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Mid Year Examination 2015

Mathematics
Grade 07 OFING Time: 2 hours
Name/ Index No.
Part 1
® Answer all questions on paper itself.

01 Denote 3450m is kilometers and meters.

02  If the price of lkg sugar is Rs. 88, find the price of 750g sugar.

03  Simplify. 4a+7 +3a+ 13

04 If 4:x=16: 64, find the value of x.

05 What is the value of 6 in the number 3.265

06 Using the coordinate plane above write
the point A as ordered pair.

07 Draw a circle wusing a pair of
compasses. Measure and write down the
length of its diameter.

08  Write the following percentage as a fraction 32%.

09 Find the quantity of medicine in 8 bottles of medicine having 230ml in each.
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10 Simplify 0.73 x 2

11 Find the area of a square of side of length 8cm.

12 When x =3 and y = 1 find the value of 2x + 3y

13 Name the chord and the radius of this B
circle. O is the center of the circle. ’

A
C

14 Length of the cuboid is 20cm. breadth 15cm and height 10cm. Find the volume
of the cuboid.

15 What is the value of 32cm 8mm + 8 ?

16  Write the expression obtained when "4 is subtracted from the number a and the
divided by 10."

17 Name two things those having paralleled edges.

18 40 students in a class sat an examination. 30 of these students passed the
examination. Denote the number of students passed as a percentage of the
number of students who sat the examination.

19  When Rs. 1200 is divided in the ratio 5 : 3 between x and vy, how much
money will y receive ?

20 The perimeter of a rectangular frame is 580cm. If the length of the frame is

150cm find its breadth.

(2 x 20 = 40)
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02

03

Part - 11

Answer first question and four other questions. 16 marks in first question
and 11 marks in each other questions.

(a)

(b)

(©)

(a)

(b)

(c)

(d)

(a)

Find the value in column A which is appropriate to each of the values in
column B and join it by a line.

A B
(1) 100cm 20cm 8mm
(11) 50cm x 3 2km 118m
(ii1) Secm 2mm x 4 Im
(iv) | 4km 236m + 2 12m 99cm
v) I15m 2cm - 2m 3cm Im 50cm

A 5m long beam and the lengths of three reepers brought from a timber
shop to repair a roof as follows. 3m 40cm, 4m 15cm, 3m 45cm

(i)  Find the total length of reepers.
(i1)) If the price of Im of reeper is Rs. 60, find the amount spent for

reepers.

(ii1)) The length of beam needed is 4m 65cm. If the beam brought from
the shop is used, what length is wasted ? Start .

In a cross country race five check points Finish

are placed at equal distances between the

start and the finish. The total distance of 5 2

the race track is 8km 40m. Find the

distance between two successive check 7 3

points.

Write the algebraic expression obtained when "Added 4 to the number X,
then multiply by 5 and subtract the answer from 10x"

Simplify
(1 1llx -4y +3x + 8y (i) Sa-2b-6a+7a
If x =3, y =2 find the value of the expression 9x - Sy

Build up algebraic expression for
the perimeter of the following
figure and simplify it.

Fill in the blank spaces of the
table given bellow.

Common fraction Decimal fraction Percentage
1
4
3
8
33+ %
3
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04

05

06

07

(b)

(@)
(i)

(iii)
(iv)

(a)

(b)

(©)

(a)

(b)

(i)
(ii)
(iii)
(iv)
(v)
(vi)

The ratio of the expenses for raw materials to craftsmanship in making an
almirah was 7 : 3. If the total expenditure to make the almairah was Rs.
32000, find

(i)  The expenses for raw materials.

(ii) The amount paid for craftsmanship.

Draw the coordinate plan and mark the following point on it.

2,2 4 4 (2,8 4, 9 (3,10 (7,100 (6,9 (8,8 (6, 4) (8, 2)
Join them in order by straight line segments.

What is the figure you have obtained ?

Draw axis of symmetry of the figure.

Write the coordinates of the point of intersection of the point axis of
symmetry and the x - axis.

The weight of a packet of medicated powder is 5.075mg. Find the weight
of 250 such packets

(i)  in grams (i1)in grams and milligrams

Calculate the breadth of a rectangular picture whose area is 13.25cm” and
length is Scm.

The figure shows a rectangle PQRS. Using P T Q

the data shown in it I g 0 .

(i) Name a locus of points moving at a W U
fixed distance from PQ. T

(i) Name a locus of points moving at a S ) v R

fixed distance from VT.

A water tank is of length 4.0m, breadth 2.5m and height 1.5m. How many
cubic metres is the volume of water that the tank would hold ?

Above tank contains 250/ 320m/ of water. Because water leaking from a tap
water is collected from 10.00 a.m. to 4.00 p.m. If this quantity of water is
8/ 904m/.

(1)  Find the quantity of water leaking in 1 hour.
(i1))  What is the quantity of water remaining ?

(ii1)) Find the quantity of water leaking collected from 6.00 p.m. to 6.00
a.m. on the following day.

Draw a circle with 5cm radius.

Mark its centre as O.

Mark points A, B and C on the circle and join AC, BC and CO.
Extend the line segment CO to meet the circle at D.

Name the diameter, the chord and the radius of the circle.

AN
Using the protractor and measure and write the value of angle CAD.

(vil) What is the chord with longest length ? and what is its length ?

kalvi.lk


https://kalvi.lk

ONLINE CLASSES

@60 (IP(LPEUGILD 2 6ITEIT LOMETTTEUFSEMEIT E)601650T5 8] Zoom QFWES] LPEVLDNE
@enevorw auiflufled HevL QUMD Sevsflg LML euGLIL 6T,
\ : 2 :

LY

e " ..
¥ s GBIy SiLL6U6t6ssTW L 6BTTEUT 6U(SLIL|&6iT.

¥ wresoreurjserfleit Si6MLEA LSS 2 W55 QGTLFFHwmest UL enss6T.
¥ uullH & QEwevl emL&6iT pdf euigalled aulprisiLBLD.

TAMIL MEDIUM ENGLISH MEDIUM
850/= Monthly - 1000/= Monthly

Whatsapp 26TL & 6TD6ML QGMLTY Q&mesoT(H 6u(SHULIS 6T
@gnLjumest GuevSls aflugrisenet SINIGS) QEM6Tem (Ligw)b.

L

C SlevT(P1D 6u(FLIL RECORDING 6UIEISUILIBLD. )

)]

d= Digital Learning Platform www.kalvi.lk


https://wa.me/message/KFPFYYR6FMFMP1

Educatlon . 6TRIG6IT (818 GasmeiT
6T60oT6Bf1LD 2 618 5 &6V LoIT6soT6oU I} 8561 D) 6] &5 68T
-

qef:’)cs:a@ FoHs0\ST(H HMHMEV &L LEDLOLIEHILI 2 (ThH6UITE(HHS6V.

SIMETHGID 191 L6v LWLILHISSLILLL @HS STev&HS60 LIsvEeUMm| HI6OMSE(ETHLD STV
QRLLSHGHIL6T @lemestTbhgl LI L6V SHeMHSHI0 LIVSILCILIHE 6uUHSITMEST. HHS
eUm&HUINEL HevalHGHIMUID @EME elHlallevsassven. @emstorwoulfl Hevelludleor
epeuld  sevellsglenm YHHWOSTH Uflomesreeng  eLigusTergl. (GMILILTES
CarGrmestm  GuIflLy  &mevsHev  BTCL  WPLSESUULY(HHSSH.  @)SH60TT6V
LOTesoTeUT &6 MG LMLFTem6y, Hevell BimieussTrisefim@ @emLullsvmest GSHTLFL
HOTYHSILLLE|. bHSH Q@QSSLLTET (GLpblensvulley @enesorwieulfl 6@ LiL g6
LOIT6sET6U T & 6T M (&) eUTLILNFEFTSHLOME H6DLHS G| 6T60TLIGCS 2 655TEmLD.

@6tTm| GCISTLH6VHILLILD LOTETITEUTSHED6T HEUMTETT LITenSHE QL[ GlFsveusTs e
6TEDOTEBOT 6L L LD LD&&ET WSHHIUINL 2 6Terg). GISTPIVHILLILD 6TeTUS ] (I &(He
L (HGL H6m& eTeusumTm| LIW6sTL(H&SISIGMITLD 6T6sTLISI6V SIS 60T 34,88 LOMMILD HLPl6
ellenereyssit  SywmesfllasiubhliEmgl. 2 eflmw  Glamessr(h) Henovenw ClFgH 658
BlenesTHSHT6V  euedt  HleFwid FMUE s eumd.  @miE — LgsflemsTms
&mesoTLiLI(hleugy) mesTeuF&seneT euflliL(hlEHs 1STLH6VHILL 2 60160 6 (LPEMMWITEDT
SLLenWLIL @6VeuTenCw. emsd 2 (HeUuTsEHUCEH 6IMmgGsT CHTHESWL. HMS
CrBm& &G 6TMRISSET LILIGTITLD B{65LOW|LD.

6108 @emevoTWSSeHTLS 2arL s 2 rserfl (G G5 emeuwimest
ufleng alleoTns g MeTEem6N G6v(G6eumest (Wenmuiled srallm&sw
Q&g Q&M6Tem(WPigwLd.

kalvi.lk

sevall iy QFWSH SN 2L 60)18(HL65T HNMIIHF) QETEITEN 6TI0F) FELPG 2L 5
Sennugerfl 6o 26L& 2.1 61)15(G5L-65T SINl15:5) QSm6iT6rT (Wigw)b.

@ Viber Whatsapp @ Facebook
Community Channel Page



https://whatsapp.com/channel/0029Va8ikv9AojYjtBacLQ07
https://invite.viber.com/?g2=AQAx39OnsMd57Uyj%2B%2BMKbgIa9PlUwuwO7b5u3a4rcx1q6I7cPOSSXnvZZgdpc8Ar
https://www.facebook.com/profile.php?id=100089887876732&mibextid=ZbWKwL
http://kalvi.lk/
http://kalvi.lk/

